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IH H HOE K O# E &= © B
PR3 — —
Hil H K —
Bl IKIE — —
%2*7&? — —
A JIDBES — —
H @5 — —
SR — —
H JKI — —
o — —
B B — —
HA — —
L8 — —
BRI YA 0.01 mg/0LLTF 0.001 mg/0
DT mEInZnwz & 0.1 mg/ 0
&N 0.01 mg/0LLTF 0. 005 mg/0
SN2 1 b 0.05 mg/0LLF 0.02 mg/ 0
[ ES 0.01 mg/0LLTF 0. 005 mg/ 0
B KGR 0.0005 mg/0LL T 0.0005 mg/0
e PCB RS nZ2nwz & 0.0005 mg/0
Crauai Ry 0.02 mg/0LLTF 0. 002 mg/0
L RAES 0.002 mg/0LLTF 0.0002 mg/0
L,2-Y/uauaxH 0.004 mg/0LLTF 0.0004 mg/0
e [ I->ZuuxHL o 0.02 mg/0LLTF 0. 002 mg/0
> L A-1,2-YC/auaxTF L 0.04 mg/0LLTF 0. 004 mg/0
L1L,1-NJZouxx 1 mg/0LLTF 0.0005 mg/0
LL2-hV ooy 0.006 mg/0LLTF 0.0006 mg/0
A EEE A 0.03 mg/0LLTF 0. 002 mg/0
T T hI77uoaxzF L 0.01 mg/O0LLTF 0.0005 mg/0
- ,3-Y/7noun 7o~y 0.002 mg/0LLTF 0.0002 mg/0
F7 5 I 0.006 mg/0LLTF 0.0006 mg/0
D 0.003 mg/0LLTF 0.0003 mg/0
FAN T VT 0.02 mg/0LLTF 0. 002 mg/0
H R 0.01 mg/0LLTF 0.001 mg/0
L 0.01 mg/0LLF 0. 002 mg/0
IR E R — 0.05 mg/0
ARSI 258 — 0. 05 mg/0
R TEEE R L O R L 22 55 10 mg/O0PLTF —
S 0.8 mg/0LLTF 0.08 mg/0
E¥ES 1 mg/0LLTF 0.02 mg/ 0
KFEA A RE (pH) 6. 500 8. 501 F —
£ A bR ERE (BOD) 2 mg/OLLT 0.1 mg/Q
VE (L IR AR SO i (COD) — 0.1 mg/0
ElEYE & (SS) 25 mg/QLLTF 1 mg/Q
B Va7 it (DO) 7.5 mg/0LL L 0.1 mg/0
1 PN R 1000 MPN/100mOLL —
- n—~F Y HHEYE — 0.5 mg/0
= pER — 0. 05 mg/0
H VY — 0.003 mg/ 0
AR 0.03 mg/0LLTF 0.001 mg/0
7 = ) — )V * 0.5 mg/OLLTF 0. 005 mg/ 0
: &l * 0.3 mg/OLLT 0.01 mg/ 0
B YRFEMESR * 1.0 mg/QLLT 0.02 mg/ 0
5 VRfEtE~ o T * 1.0 mg/0LLTF 0.01 mg/0
H W7o * 0.2 mg/0LLTF 0.02 mg/ 0
=) — 0. 008 mg/ 0
T =T RS — 0.04 mg/0
% D APRRED A — 0. 005 mg/ 0
D EREE R — —
1t kA A4 — 2 mg/0
B A A G A — 0.03 mg/0

X Dk ZHERE (B5HE) 2R1T
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OMIIKERAET—ZIZTOVWTDIESIE
KRR TERBUKZE] [ TEE) (X, SRR ETHZ EndH D
< RKHPO TCHE X TEERm 2. D BiE) 1T TBEll L) 2R
KPP0 IRfH &3, EETMRERBECTHLZ EE2 VD
c BRE ORKMIL, FREEARA T30, TRNIFRAE TIZS0TH D
 KIBEBEBUTESER R LT 5, Bl IR, JERRD 11000) ThHho7oHmEIR, KR ORR
1T T1.0E+3) &72% (1.0X10°%2 %)

OT—FRITHBEL TLEWERE
HRFEARBAAE O P CEPNAWIE L T D28, —ERIITHEIR L i,

FRATEE : EPN (CHIEH:HE0. 006mg/0)

FRAELET - RE)I (A EAE)

FAEHE . 2], 8H L2A oFENENYIE (10FFE OFRE) IZHIE
TAEFER - 8H « 2H & H120. 0006mg/ 04
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- AN ERERFET —4

FHAE)I (RRF04E) WEH - Ppk184E4H19H -3(2)-1
HIEE B 10:00 16:00 22:00 Z14:00
PR = = = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 860 0. 880 0. 880 0. 880
BRI (m) 0.172 0.176 0.176 0.176
DB (m/F)) 0. 54 0.57 0. 58 0. 60
i (m/Fb) 20. 24 22.08 22.37 22.03
SR (C) 17.5 18.7 14.2 13.5
JKIE. (C) 11.5 13.5 13.2 12.0
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 > 30 > 30
B3 w5 5 R R
S8l HEa L ML HEa L ML
TR YA (mg/0) | < 0.001 — - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
[ (mg/0) 1.5 - - -
M E R (mg/0) | < 0.05 -
S5 (mg/0) 0. 08 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A RSE 7.9 8.5 7.8 7.7
YRR R s (mg/0) 1.3 1.0 1.3 1.3
(LB EERE (mg/0) 2.4 2.4 2.2 2.1
HilEYE & (mg/0) 7 7 5 4
BB SR (mg/0) 11.3 11.8 9.7 9.9
KIBE R (MPN/100m0) 7.95+2 - -
MV E & A & (mg/0) - - - -
BEE (mg/0) 1.6 - 1.4 -
20 A (mg/0) 0.12 - 0.071 —
B (mg/0) 0. 005 - - -
7 x /) —)LH (mg/0) | < 0.005 — - -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) 0. 04 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
[ oV (mg/0) - - - -
= (mg/0) - - - -
ToE=THER (mg/0) 0. 05 - - —
D ABERRED A (mg/0) 0. 10 - - —
e (mS /m) 17 15 15 15
Bk A 4 (mg/0) 9 - 7 —
B A A o S A (mg/0) | < 0.03 - - -
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B8 (RRFOAE) HIER : FRIS4E5H10H -3(2)-2
HIEE B 10:00 16:00 22:00 14:00
PR = = = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 960 0. 900 0. 880 0. 880
BRI (m) 0.192 0. 180 0.176 0.176
it (m/F) 0.48 0.50 0.49 0.49
i (m/Fb) 17.28 16. 65 16.51 16. 46
SR (C) 17.9 23.0 20. 5 19.5
JKIE. (C) 14.5 17.0 16. 4 15. 4
=N (0% B Mo 0% B Mo
B (%) > 30 > 30 > 30 > 30
B3 R 5 w5 5
Y178 FERL FE 7L FERL [
BRI T L (mg/0) | < 0.001 - - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.5 — - -
et E R (mg/0) | < 0.05 -
S0 F (mg/0) - - - -
EEES (mg/0) - - - -
KFEA A VEE 7.8 8.5 7.9 7.7
YRR R s (mg/0) 1.5 1.0 1.2 1.0
(LB EERE (mg/0) 2.1 1.9 2.0 2.0
HilEYE & (mg/0) 5 4 4 3
BB SR (mg/0) 10. 6 11.2 8.7 8.7
KIBE R (MPN/100m0) 2. 3E+3 - - -
n— MR E & A & (mg/0) - - - -
BEE (mg/0) 1.7 - 1.4 -
20 A (mg/0) 0. 063 - 0.074 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
=y v (mg/0) - - - -
TR TEEE (mg/0) 0.08 — — -
D AFREED A (mg/0) 0. 042 - — -
HRE R (mS/m) 15 15 15 15
Bk A A4 (mg/0) 6 - 6 -
A A v A min Al (mg/0) - - - -
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FHAE)I (RRF04E) BEH . FRk18HE6HTH #*-3(2)-3
HIEE B 10:00 16:00 22:00 14:00
BN i i I3 %
mi A K (BEKE) (mm) 4.5 - - —
KT (m) 1. 050 1. 090 1.090 1.030
BRI (m) 0. 210 0.218 0.218 0. 206
it (m/F) 0.56 0.59 0.61 0.63
i (m’/Th) 21. 16 22.95 23. 86 22.70
SR (C) 25. 3 23.8 19. 0 17.9
JKIE. (C) 18.9 19.8 18.0 16.0
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 > 30 > 30
B3 w5 5 R 5
S8l B L Hamia L By L Bl
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.2 — - -
et E R (mg/0) | < 0.05 -
SoR (mg/0) 0.22 - m —
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.1 8. 4 7.7 7.6
YRR R s (mg/0) 1.4 1.6 2.4 1.0
(LB EERE (mg/0) 3.0 2.6 2.9 2.4
ilE e & (mg/0) 11 7 6 6
BB SR (mg/0) 10.0 9.4 8.0 7.8
PN (MPN/100m0) 1. 1[E+4 - - -
n— MR E & A & (mg/0) - - - -
BEE (mg/0) 1.6 - 1.4 -
20 A (mg/0) 0. 059 - 0. 057 —
B (mg/0) | < 0.001 — - -
7 x /) —)LH (mg/0) | < 0.005 — = -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) 0.01 - - -
[ oV (mg/0) - - - -
= (mg/0) - - - -
TR T ER (mg/0) 0.07 - - -
D ABRREY A (mg/0) 0. 041 - - -
e (mS /m) 15 15 16 16
Bk A A4 (mg/0) 5 — 5 —
B A A o S A (mg/0) | < 0.03 - - -
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FHAE)I (RRF04E) BEH . FRk18HETHBH -3(2)—4
HIEE B 10:00 16:00 22:00 14:00
KA ] N = é%
mi A K (BEKE) (mm) 0.0 - -
KT (m) 1.130 1.210 1.130 1. 090
BRI (m) 0. 226 0. 242 0. 226 0.218
it (m/F) 0.54 0.66 0.62 0.57
i (m/Fb) 22.62 33.31 27.01 23.57
SR (C) 22.0 21.0 22. 1 21.0
JKIE. (C) 19.0 21.0 19.0 18.7
=N 4,375 B B2 WK B 5 WK Mo
B (%) > 30 21 26 > 30
B3 5 T8 + 5 fIEy
S8l B L 7K W HY Hamia L
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — — -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) .3 — - -
et E R (mg/0) | < 0.05
S0 F (mg/0) - - -
EEES (mg/0) - - -
KFEA A VEE 7.8 7.7 7.7 7.7
YRR R s (mg/0) 2.1 2.1 1.7 1.2
(LB EERE (mg/0) 3.4 5.0 3.2 2.8
HilEYE & (mg/0) 7 28 13 9
BB SR (mg/0) 8.6 8.2 8.0 8.0
PN (MPN/100m0) 1. 7TE+4 - - -
n— MR E & A & (mg/0) - - - -
BEE (mg/0) 1.7 - 1.4 -
20 A (mg/0) 0.13 - 0.10 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
[ oV (mg/0) - - - -
=y (mg/0) - — — -
TR TEEE (mg/0) 0.13 — — -
D AFREED A (mg/0) 0.11 - - -
HRE R (mS/m) 16 11 15 16
Bk A A4 (mg/0) 8 - 6 -
A A v A min Al (mg/0) - - - -
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FHAE)I (RRF04E) BEH . FRk1sHE8H2H -3(2)-5
HIEE B 10:00 16:00 22:00 14:00
PR = 5 = =
mi A K (BEKE) (mm) 0.0 - - —
KT (m) 0. 950 0. 980 0. 980 0. 980
BRI (m) 0.190 0.196 0.196 0.196
it (m/F) 0.58 0.60 0.59 0.59
i (m/Fb) 21. 14 21. 88 21.72 21.71
SR (C) 26. 5 29.0 23.0 23.5
JKIE. (C) 20. 3 24.0 21.5 20.0
=N (0% B Mo 0% B (4575 B
B (%) > 30 > 30 > 30 > 30
B3 R 5 w5 5
S8l B L Hamia L By L Bl
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) | < 0.002 - - —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
LI-YZuupxF L (mg/0) | < 0.002 - — -
VA-1,2-VZuouxF L (mg/0) | < 0.004 - — -
LLI-FVZuouxH (mg/0) [ < 0.0005 — - -
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - - —
[PAEREES (mg/0) | < 0.002 - < 0.002 —
FhS/7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) | < 0.0003 — — —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
Tl (mg/0) | < 0.002 - ~ -
HRIEER (mg/0) 1.2 — - -
M E R (mg/0) | < 0.05 - —
S5 (mg/0) < 0.08 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.2 8.7 8.1 7.6
YRR R s (mg/0) 1.0 0.8 1.0 0.7
(LB EERE (mg/0) 1.8 2.0 1.9 1.9
HilEYE & (mg/0) 3 2 4 3
BB SR (mg/0) 10. 4 10.6 8.0 8.3
KIBE R (MPN/100m0) 7. 0E+2 - - -
n—~HV Y E & A & (mg/0) | < 0.5 — < 0.5 —
é%?{% (mg/0) 1.4 - 1.4 -
20 A (mg/0) 0. 046 - 0. 044 —
B (mg/0) | < 0.001 - — -
7 x /) —)LH (mg/0) | < 0.005 — = -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) 0. 04 — - -
VafiflE~ o B (mg/0) 0.01 - - -
7 o (mg/0) - - - -
= )v (mg/0) | < 0.008 - — -
TR T SR (mg/0) 0. - . -
D ABERRED A (mg/0) 0. 034 - — -
HRE R (mS/m) 15 15 15 15
Bk A A4 (mg/0) 6 - 6 -
A A A (mg/0) | < 0.03 — - -
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FHAE)I (RRF04E) WEH - Fpk184E9H 20 H #&-3(2)-6
HIEE B 10:00 16:00 22:00 14:00
BN i i I3 %
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 960 1.030 1. 030 1.030
BRI (m) 0.192 0. 206 0. 206 0. 206
it (m/F) 0.67 0.75 0.74 0.72
i (m/Fb) 28. 69 33. 40 33. 38 32.53
SR (C) 27.0 28.5 20. 6 18.7
JKIE. (C) 20.5 22.0 21.2 19.7
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 w5 5 R 5
S8l B L Hamia L By L Bl
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-UZuaux X (mg/0) - - - -
LiI-YZuuxFL (mg/0) - - - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 4 — - -
et E R (mg/0) | < 0.05 -
S0 F (mg/0) - - -
EEES (mg/0) - - -
KFEA A VEE 7.9 8.2 7.7 7.7
YRR R s (mg/0) 1.2 1.2 1.0 1.2
(LB EERE (mg/0) 1.9 2.1 2.0 2.0
HilEYE & (mg/0) 4 5 3 4
BB SR (mg/0) 9.4 9.2 8.8 8.4
PN (MPN/100m0) 3. 3E+3 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.5 - 1.4 -
20 A (mg/0) 0. 081 - 0. 065 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
=y v (mg/0) - - -
TroE=TEESE (mg/0) | < 0.04 — - -
D AFREED A (mg/0) 0. 065 - — -
HRE R (mS/m) 15 15 15 15
Bk A A4 (mg/0) 6 - 5 -
A A v A min Al (mg/0) - - - -
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FHAE)I (RRF04E) BEH . Fpk184E10H4H -3(2)-7
HIEE B 10:00 16:00 22:00 14:00
PR = = = =
mi A K (BEKE) (mm) 1.5 - - —
KT (m) 0. 830 0. 820 0. 820 0. 820
BRI (m) 0. 166 0. 164 0. 164 0. 164
it (m/F) 0.71 0.73 0.73 0.71
i (m/Fb) 29. 50 30. 32 30. 07 29.76
SR (C) 20. 3 21.5 18.3 19.5
JKIE. (C) 20. 1 19.6 17.8 19.2
=N (0% B Mo 0% B Mo
B (%) > 30 > 30 > 30 > 30
B3 R 5 w5 5
pisc) B L Hamia L HHa L ML
BRI T A (mg/0) | < 0.001 - - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-UZuaux X (mg/0) - - - -
LiI-YZuuxFL (mg/0) - - - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.3 — - -
et E R (mg/0) | < 0.05 -
SoR (mg/0) | < 0.08 - m —
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 7.9 8.0 7. 7.8
YRR R s (mg/0) 1.5 0.9 1.1 1.5
(LB EERE (mg/0) 1.8 2.0 1.7 1.9
HilEYE & (mg/0) 4 4 4 4
BB SR (mg/0) 9.6 9.2 8.6 8.8
PN (MPN/100m0) 7. 9E+2 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.5 - 1.4 -
20 A (mg/0) 0. 054 - 0. 058 —
B (mg/0) 0.016 - - —
7 x /) —)LH (mg/0) | < 0.005 — = -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
[ oV (mg/0) - - - -
= (mg/0) - - -
ToE=THER (mg/0) | < 0.04 - - —
D ABRREY A (mg/0) 0. 040 - - -
e (mS /m) 15 15 15 15
Bk A A4 (mg/0) 5 — 5 —
B A A o S A (mg/0) | < 0.03 - - -

EORH3-22




FHAE)I (RRF04E) BEH . PRkI84FE11A1H #*-3(2)-8
HIEE B 10:00 16:00 22:00 14:00
BN i i 5 i
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 850 0. 840 0. 840 0. 840
BRI (m) 0.170 0. 168 0.168 0. 168
it (m/F) 0.59 0.60 0.60 0.61
i (m/Fb) 20.91 20. 98 21.09 21. 48
SR (C) 20. 0 21.3 15. 3 15.5
JKIE. (C) 16.8 17.0 16.2 14.5
=N (0% B Mo 0% B Mo
B (%) > 30 > 30 > 30 > 30
B3 R 5 w5 5
S8l B L Hamia L By L Bl
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-UZuaux X (mg/0) - - - -
LiI-YZuuxFL (mg/0) - - - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 4 — - -
et E R (mg/0) | < 0.05 -
S0 F (mg/0) - - -
EEES (mg/0) - - -
KFEA A VEE 8.4 8.8 7.8 7.7
YRR R s (mg/0) 0.9 0.7 0.7 0.8
(LB EERE (mg/0) 1.9 1.9 1.9 1.6
HilEYE & (mg/0) 2 3 2 3
BB SR (mg/0) 11.4 11.1 8.8 9.0
PN (MPN/100m0) 4. 9E+2 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.6 - 1.5 -
20 A (mg/0) 0. 053 - 0.033 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
= (mg/0) - - - -
TroE=TEESE (mg/0) | < 0.04 — — -
D AFREED A (mg/0) 0. 034 - — -
HRE R (mS/m) 14 14 15 14
Bk A A4 (mg/0) 4 - 4 -
A A v A min Al (mg/0) - - - -

EORH3-23




FHAE)I (RRF04E) WEH . Fpki84E12H6H #-3(2)-9
HIEE B 10:00 16:00 22:00 14:00
BN i i I3 %
mi A K (BEKE) (mm) 0.0 - - —
KT (m) 0. 950 0. 920 0. 920 0. 920
BRI (m) 0. 190 0.184 0.184 0. 184
it (m/F) 0.62 0.62 0.62 0.62
i (m/Fb) 24. 36 24. 14 24. 24 24. 24
SR (C) 8.8 10. 8 4.6 4.2
JKIR. (°C) 11.2 12. 4 10.9 11.1
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 > 30 > 30
B3 w5 5 R 5
S8l B L Hamia L By L Bl
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vrnnaRAH (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.4 — - -
et E R (mg/0) | < 0.05 -
SoR (mg/0) 0.15 - m —
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 7.9 8. 4 7.8 7.7
YRR R s (mg/0) 1.2 0.8 1.5 1.0
(LB EERE (mg/0) 1.7 1.9 3.3 2.2
HilEYE & (mg/0) 2 2 4 4
BB SR (mg/0) 11.6 11.4 10. 3 10. 3
PN (MPN/100m0) 3. 3E+2 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.5 - 2.1 -
20 A (mg/0) 0. 050 - 0.053 —
B (mg/0) 0.024 - - —
7 x /) —)LH (mg/0) | < 0.005 — = -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
[ oV (mg/0) - - - -
= (mg/0) - - -
ToE=THER (mg/0) | < 0.04 - - —
D ABRREY A (mg/0) 0.047 - - -
e (mS /m) 15 15 21 16
B A A~ (mg/0) 5 - 19 -
B A A o S A (mg/0) | < 0.03 - - -

EERH3-21




FHAE)I (RRF04E) BEH - FRk194E1H10H #£-3(2)-10
HIEE B 10:00 16:00 22:00 14:00
BN i i 5 i
mi A K (BEKE) (mm) 0.0 - - —
KT (m) 1.100 1. 040 1. 040 1. 040
BRI (m) 0. 220 0. 208 0. 208 0. 208
it (m/F) 0.72 0.72 0.72 0.74
i (m’/Th) 31. 34 30. 84 30. 89 31. 50
SR (C) 8.2 9.8 4.3 1.0
JKIR. (C) 9.0 9.6 8.0 7.8
=N (0% B Mo 0% B (4575 B
B (%) > 30 > 30 > 30 > 30
B3 R 5 w5 fIEy
S8l B L Hamia L B L Bl
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.6 — - -
et E R (mg/0) | < 0.05 -
S0 F (mg/0) - - - -
EEES (mg/0) - - - -
KFEA A VEE 8.0 8.6 7. 7.7
YRR R s (mg/0) 1.5 1.0 1.1 0.6
(LB EERE (mg/0) 1.8 1.6 1.6 1.4
HilEYE & (mg/0) 4 3 3 2
BB SR (mg/0) 12.5 12.1 11.3 11.5
KIBE R (MPN/100m0) 1. 352 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.7 - 1.5 -
20 A (mg/0) 0.061 - 0. 054 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
=y v (mg/0) - - - -
TR TEEE (mg/0) 0.08 — — -
D AFREED A (mg/0) 0. 035 - — -
HRE R (mS/m) 14 14 14 14
Bk A A4 (mg/0) 5 — -
A A v A min Al (mg/0) - - - -

EORH3-25




FHAE)I (RRF04E) BEH - FER19F2HTH #K-3(2)-11
HIEE B 10:00 16:00 22:00 14:00
PR 5 = = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0.900 0.930 0. 930 0. 930
BRI (m) 0. 180 0. 186 0. 186 0. 186
it (m/F) 0.59 0.58 0.57 0.57
i (m/Fb) 19.98 19.27 18.93 19. 15
SR (C) 7.4 10.0 3.2 0.0
JKIE. (C) 10.5 9.1 7.4 1.9
=N (0% B Mo 0% B Mo
B (%) > 30 > 30 > 30 > 30
B3 R fIEy w5 fIEy
S8l B L Hamia L B L ML
B R T A (mg/0) | < 0.001 — - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) | < 0.002 - - —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
LI-YZuupxF L (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - - —
[PAEREES (mg/0) | < 0.002 - < 0.002 —
FhS/7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) | < 0.0003 — — —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
Tl (mg/0) | < 0.002 - ~ -
HRIEER (mg/0) 1.6 — - -
et E R (mg/0) | < 0.05 -
S5 (mg/0) 0.16 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.1 8.8 7.8 7.7
YRR R s (mg/0) 1.0 2.4 1.6 1.2
(LB EERE (mg/0) 1.6 1.9 1.6 1.5
HilEYE & (mg/0) 2 3 3 1
BB SR (mg/0) 13. 4 11.3 11.1 10. 7
KIBE R (MPN/100m0) 45 - - —
n—~HV Y E & A & (mg/0) | < 0.5 — < 0.5 —
é%?{% (mg/0) 1.6 - 1.4 -
20 A (mg/0) 0. 052 - 0. 056 —
B (mg/0) | < 0.001 - — -
7 x /) —)LH (mg/0) | < 0.005 — = -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
7 o (mg/0) - - - -
=) (mg/0) | < 0.008 — — -
TroE=TEESE (mg/0) | < 0.04 — - -
D ABERRED A (mg/0) 0. 034 - — -
HRE R (mS/m) 14 14 16 15
Bk A A4 (mg/0) 5 - 5 -
A A A (mg/0) | < 0.03 — - -

EORH3-26




FHAE)I (RRF04E) BWEH - FER19FE3ATH #£-3(2)-12
HIEE B 10:00 16:00 22:00 14:00
BN i i I3 %
mi A K (BEKE) (mm) 0.0 - - —
KT (m) 0. 850 0. 900 0. 750 0. 820
BRI (m) 0.170 0. 180 0. 150 0. 164
it (m/F) 0.57 0.57 0.58 0.59
i (m/Fb) 18.79 18. 81 18.39 19. 32
SR (C) 9.3 11.0 7.0 1.5
JKIR. (C) 8.7 10. 6 8.9 7.3
=N 0% B Mo 0% B (4575 B
B (%) > 30 > 30 > 30 > 30
B3 w5 5 w5 5
S8l B L Hamia L By L Bl
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
Lo-YZunuxkHy (mg/0) - - - -
LI-YZuupxF L (mg/0) — — — -
VA-1L,2-V/ZunxzF Ly (ng/) - - - -
LL1-FyZonxT Xy (mg/0) | < 0.0005 — = -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) .6 — - -
et E R (mg/0) | < 0.05 - —
S0 F (mg/0) - - -
EEES (mg/0) - - -
KFEA A VEE 8.0 8.8 8.0 7.7
YRR R s (mg/0) 1.7 2.1 1.7 1.6
(LB EERE (mg/0) 1.6 2.0 1.5 1.5
HilEYE & (mg/0) 3 2 3 3
BB SR (mg/0) 12.6 12.6 10. 2 10. 4
PN (MPN/100m0) 4. 9E+2 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.7 - 1.6 -
20 A (mg/0) 0. 065 - 0. 067 —
B (mg/0) - - - -
7 = ) —)VER (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
=y v (mg/0) - - - -
TR TEEE (mg/0) 0.11 — — -
D AFREED A (mg/0) 0. 050 - — -
HRE R (mS/m) 15 15 16 16
Bk A A4 (mg/0) 8 - 5 -
A A v A min Al (mg/0) - - - -

HRHm3-27




BRI (E—8hER) HIER : FRI84FE4H19H #%-3(2)-13
HIEE B 10:45 16:45 22:45 F14:45
PR = = = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 500 0. 500 0.510 0.510
BRI (m) 0. 100 0.100 0.102 0.102
it (m/F) 0.72 0.74 0.73 0.76
i (m/Fb) 7.17 7.32 7.38 7.74
SR (C) 18.2 16.0 14.3 13.5
JKIE. (C) 11.5 14.5 13.0 12.0
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 R 5 R 5
S8l HHa L ML HEa L ML
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 0.88 — - —
M E R (mg/0) | < 0.05
e (mg/0) | < 0.08 — — —
EPES (mg/0) | < 0.02 - — -
KFEA A RSE 7.9 7.9 7.6 7.6
YRR R s (mg/0) 1.4 1.2 1.7 1.5
(LB EERE (mg/0) 1.6 2.0 1.7 1.8
HilEYE & (mg/0) 3 3 3 3
BB SR (mg/0) 11.0 10. 3 10. 0 10. 3
KIBE R (MPN/100m0) 1. 3E+3 - - -
MV E & A & (mg/0) - - - -
BEE (mg/0) 1.0 - 1.0 -
20 A (mg/0) 0.018 - 0. 036 —
B (mg/0) 0.003 - - —
7 x /) —)LH (mg/0) | < 0.005 — - -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
[ oV (mg/0) - - - -
= (mg/0) - - - -
ToE=THER (mg/0) 0. 06 - - —
D ABREED A (mg/0) 0.011 - - -
e (mS /m) 10 10 10 11
Bk A A4 (mg/0) 2 - 4 —
A A S P (mg/0) | < 0.03 - - -

EORH3-28




BRI (E—8hER) BEH - Fpk184E5H10H #K-3(2)-14
HIEE B 10:30 16:30 22:30 14:30
PR = = = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 530 0. 500 0.510 0. 520
BRI (m) 0. 106 0.100 0.102 0.104
it (m/F) 0.81 0.82 0.83 0.83
i (m/Fb) 8.79 8.73 8.73 8.67
SR (C) 19. 3 21.0 20. 5 18.7
JKIE. (C) 15.8 19.2 17.3 16.5
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 w5 5 R R
S8l B L Hamia L HEa L ML
BRI T L (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - —
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 0.98 — — -
et E R (mg/0) | < 0.05
S0 F (mg/0) - - -
EEES (mg/0) - - -
KFEA A VEE 7.8 7.9 7.7 7.
YRR R s (mg/0) 1.4 1.4 1.3 1.1
(LB EERE (mg/0) 2.0 2.2 2.1 2.1
HilEYE & (mg/0) 4 4 5 4
BB SR (mg/0) 10. 1 9.2 8.8 9.2
PN (MPN/100m0) 1. [E+3 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.3 - 1.1 -
20 A (mg/0) 0. 030 - 0.041 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
[ oV (mg/0) - - - -
= (mg/0) - - - -
TR TEEE (mg/0) 0.17 — — -
D AFREED A (mg/0) 0.011 - — -
HRE R (mS/m) 11 11 11 11
Bk A A4 (mg/0) 3 - 4 -
A A v A min Al (mg/0) - - - -

EORH3-29




BRI (E—8hER) BEH . FRk18HE6HTH #-3(2)-15
HIEE B 10:40 16:40 22:40 14140
PR 5 5 B =
mi A K (BEKE) (mm) 4.5 - - —
2KIE (m) 0. 480 0.510 0.510 0.510
BRI (m) 0. 096 0.102 0.102 0.102
it (m/F) 0.66 0.65 0. 64 0.64
i (m/Fb) 6. 28 6. 43 6. 38 6. 36
SR (C) 23.8 23.9 18.8 17.5
JKIE. (C) 19.0 20. 6 17.0 15.5
=N PR ) PR ) PR ) Mo
B (%) > 30 > 30 30 > 30
B3 w5 5 R 5
pisc) B L FE 7L HE L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - - —
At 5% (mg/0) | < 0.005 - - -
K R (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - -
vrau ALy (mg/0) - - - -
EERAES (mg/0) | < 0.0002 - - -
,2-UZuaux X (mg/0) - - - -
LiI-YZuuxFL (mg/0) - - - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 0.92 — — -
et E R (mg/0) | < 0.05
5o (mg/0) 0. 38 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 7.8 7.9 7. 7.6
YRR R s (mg/0) 1.5 1.7 1.1 1.3
(LB EERE (mg/0) 3.5 2.4 2. 2.2
HilEYE & (mg/0) 6 5 5 5
BB SR (mg/0) 8.9 8.8 8. 4 8.8
KIBE R (MPN/100m0) 7.95+3 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.0 - 1.1 -
20 A (mg/0) 0. 039 - 0. 039 —
B (mg/0) 0.012 - - -
7 x /) —)LH (mg/0) | < 0.005 — = -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
it~ v v (mg/0) 0.01 - — -
[ oV (mg/0) - - - -
= (mg/0) - - - -
TUE=THER (mg/0) 0.07 - - -
D AFREED A (mg/0) 0.017 - — -
HRE R (mS/m) 11 11 11 11
Bk A A4 (mg/0) 2 - 2 -
A A v A min Al (mg/0) | < 0.03 — - -

HRHR3-30




BRI (E—8hER) BEH . FRk18HETHBH #-3(2)-16
HIEE B 10:40 16:40 22:40 14140
KA ] N = =
mi A K (BEKE) (mm) 0.0 - - —
EV NS (m) 0. 560 R 0. 620 0. 550
BRI (m) 0.112 R 0.124 0.110
Wit (/) 0. 65 R 0. 64 0. 65
i (m’/Th) 7.84 R 8.63 7.90
SR (C) 22.0 21.0 22.2 21.0
JKIE. (C) 19.5 19.5 20. 0 19.5
=N 4,375 B B2 WK FERYNRE Mo
B (%) > 30 24 > 30 > 30
B3 5 T8 w5 5
S8l HHa L K HHa L ML
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - —
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — — -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
_LP (mg/0) - - - ’
L (mg/0) - - - -
HRIEER (mg/0) .3 — - -
et E R (mg/0) | < 0.05
S0 F (mg/0) - - -
EEES (mg/0) - - -
KFEA A VEE 7.8 7.6 7.6 7.7
YRR R s (mg/0) 1.4 1.5 1.3 1.2
(LB EERE (mg/0) 1.8 4.5 3.0 2.2
ilE e & (mg/0) 4 28 10 4
BB SR (mg/0) 8.8 8.4 8.2 8.4
KIGERER (MPN/100m0) 1. 3E+4 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.5 - 1.4 -
20 A (mg/0) 0. 030 - 0.072 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
=y v (mg/0) - - - -
TR TEEE (mg/0) 0.07 — — -
D AFREED A (mg/0) 0.016 - — -
HRE R (mS/m) 13 9 13 13
Bk A A4 (mg/0) 3 - 2 -
e A A4 v RmiE eS| (mg/0) - - - -

EORHE3-31




BRI (E—8hER) BEH . FRk1sHE8H2H #%-3(2)-17
HIEE B 10:40 16:40 22:40 14140
PR 5 5 = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 540 0. 540 0. 540 0. 530
BRI (m) 0.108 0.108 0.108 0.106
it (m/F) 0.48 0.49 0.49 0.49
i (m/Fb) 4.18 4.36 4,33 4,21
SR (C) 27.8 28.3 22.6 21.5
JKIE. (C) 21.0 23.7 21.2 20.7
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 R Iy w5 5
S8l B L Hamia L HHa L Hamia L
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) | < 0.0005 - ~ -
DA =P 4 (mg/0) | < 0.002 - - —
ERIArES (mg/0) | < 0.0002 - - -
1,2-y>/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
L ZA-1,2-VZ7uvoxF Ly (mg/0) | < 0.004 — - —
LLI-FVZuouxH (mg/0) [ < 0.0005 — - -
,1,2-hUZoo=x=X (mg/0) | < 0.0006 - - —
PAEREES (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
3> /7nua7a~y (mg/0) | < 0.0002 — — —
FTU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) [ < 0.0003 — - -
FARH T (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - ~ -
HRIMEER (mg/0) 1.2 — - -
e E R (mg/0) | < 0.05 -
S (mg/0) < 0.08 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A VESE 8.0 8.0 7.7 7.7
YRR R s (mg/0) 0.9 0.7 0.6 0.5
(LR ERE (mg/0) 1.2 1.4 1.2 1.6
il e & (mg/0) | < 1 1 1 2
Bl SR (mg/0) 9.6 9.2 8.2 8.4
KIBHEREE (MPN/100m0) 7.95+3 —
n—~HV Y E & F & (mg/0) | < 0.5 — 0.5 —
é%?{% (mg/0) 1.3 - 1.3 -
20 A (mg/0) 0. 042 - 0. 029 —
B (mg/0) | < 0.001 - — -
7 x /) —)LHH (mg/0) | < 0.005 — - -
kil (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VRfiRlE~ o B (mg/0) | < 0.01 - — -
[ VA= (mg/0) [ < 0.02 — = -
=) (mg/0) | < 0.008 — — -
TR TEEE (mg/0) 0. 07 — — -
D ABERED A (mg/0) 0. 033 - — -
HRGE R (mS/m) 13 13 13 13
B A A4 (mg/0) 3 - 2 -
oA A R eS| (mg/0) | < 0.03 — - -

EORH3-32




BRI (E—8hER) HIER : FRI84FE9H 20 H #%-3(2)-18
HIEE B 10:45 16:45 22:45 F14:45
BN i I 5 %
mi A K (BEKE) (mm) 0.0 - - —
KT (m) 0. 390 0. 380 0. 380 0. 380
BRI (m) 0.078 0.076 0.076 0.076
it (m/F) 1.13 1.10 1.07 1.09
i (m/Fb) 8. 83 8.26 8.05 8.18
SR (C) 30.0 26. 1 19. 8 18.7
JKIE. (C) 21.2 23. 1 20.5 19.0
=N 0% B Mo 0% B (4575 B
B (%) > 30 > 30 30 > 30
B3 w5 5 R 5
S8l B L Hamia L By L Bl
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
Lo-YZunuxkHy (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — — -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
_LP (mg/0) - - . ’
L (mg/0) - - - -
HRIEER (mg/0) .2 — - -
et E R (mg/0) | < 0.05
S0 F (mg/0) - - -
EEES (mg/0) - - -
KFEA A VEE 7.9 7.9 7.7 7.7
YRR R s (mg/0) 0.9 0.8 0.8 1.0
(LB EERE (mg/0) 1.5 1.5 1.3 1.1
HilEYE & (mg/0) 2 3 3 3
BB SR (mg/0) 9.0 8.5 8.5 8.8
PN (MPN/100m0) 1. 1[E+4 - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.2 - 1.1 -
20 A (mg/0) 0.021 - 0.021 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
= (mg/0) - - -
TR T ESR (mg/0) | < 0.04 — - -
D AFREED A (mg/0) 0.016 - — -
HRE R (mS/m) 12 11 11 11
Bk A A4 (mg/0) 2 - 2 -
A A v A min Al (mg/0) - - - -

HRHR3-33




BRI (E—8hER) BEH . Fpk184E10H4H #£-3(2)-19
HEEH 10:30 16:30 22:30 B14:30
PR = = = =
mi A K (BEKE) (mm) 1.5 - - —
KT (m) 0. 640 0. 620 0. 650 0.570
BRI (m) 0.128 0.124 0.130 0.114
it (m/F) 0.78 0. 81 0.77 0.75
i (m/Fb) 8. 34 8. 88 7.88 7.24
SR (C) 21.6 19.5 19.5 19.5
JKIE. (C) 19.3 20. 2 20. 2 18.7
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 w5 5 R 5
pisc) B L Hamia L HEa L ML
BRI T A (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
s (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
DA =P 4 (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.1 — — —
et E R (mg/0) | < 0.05
SoR (mg/0) | < 0.08 - m —
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.0 7.9 7.8 7.8
YRR R s (mg/0) 1.1 1.0 0.9 0.8
(LB EERE (mg/0) 1.2 1.1 1.4 1.4
HilEYE & (mg/0) 1 3 3 2
BB SR (mg/0) 9.7 8.8 9.1 9.1
PN (MPN/100m0) 1. 3E+3 - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.1 - 1.1 -
20 A (mg/0) 0. 022 - 0. 024 —
B (mg/0) 0. 020 - - —
7 x /) —)LH (mg/0) | < 0.005 — = -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
[ oV (mg/0) - - - -
= (mg/0) - - -
TUE=THER (mg/0) | < 0.04 - - -
D ABREED A (mg/0) 0.010 - - -
A R (S /m) 11 11 11 11
Bk A A4 (mg/0) 2 — 2 —
B A A o S A (mg/0) | < 0.03 - - -

HRHR3-34




BRI (E—8hER) HER : FRISHEILALH #%-3(2)-20
HIEE B 10:30 16:30 22:30 14:30
BN i I 5 %
mi A K (BEKE) (mm) 0.0 - - —
KT (m) 0. 640 0. 650 0. 630 0. 650
BRI (m) 0.128 0.130 0.126 0.130
it (m/F) 0.26 0.26 0.25 0.25
i (m/Fb) 2. 49 2.54 2.39 2.35
SR (C) 22.0 20. 1 15. 8 15.5
JKIE. (C) 16. 2 18.2 17.0 16. 2
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 R 5 R 5
S8l B L Hamia L By L Bl
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-UZuaux X (mg/0) - - - -
LiI-YZuuxFL (mg/0) - - - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) .9 — = -
et E R (mg/0) | < 0.05 -
S0 F (mg/0) - - -
EEES (mg/0) - - -
KFEA A VEE 8.1 8.1 7.7 7.6
YRR R s (mg/0) 0.9 0.7 0.5 1.0
(LB EERE (mg/0) 1.3 1.2 1.2 1.4
HilEYE & (mg/0) [ < 1 2 1 [
BB SR (mg/0) 10. 1 9.6 8.5 8.8
PN (MPN/100m0) 3. 3E+2 - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 2.0 - 2.0 -
20 A (mg/0) 0. 033 - 0. 040 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
=y v (mg/0) - - - -
TR TEEE (mg/0) 0.07 — — -
D AFREED A (mg/0) 0. 020 - — -
HRE R (mS/m) 15 15 15 16
Bk A A4 (mg/0) 3 - 3 -
A A v A min Al (mg/0) - - - -

EORH3-35




BRI (E—8hER) WEH . Fpki84E12H6H #K-3(2)-21
HIEE B 10:30 16:30 22:30 14:30
BN i I 5 %
mi A K (BEKE) (mm) 0.0 - - —
KT (m) 0. 580 0. 580 0. 580 0. 550
BRI (m) 0.116 0.116 0.116 0.110
it (m/F) 0.28 0.28 0.27 0.27
i (m/Fb) 2.39 2. 41 2.32 2.17
SR (C) 10. 2 7.8 4.7 4.1
JKIR. (°C) 12.2 12.3 11.8 11.1
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 R 5 R 5
S8l B L Hamia L By L Bl
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-UZuaux X (mg/0) - - - -
LiI-YZuuxFL (mg/0) - - - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FARH LT (mg/0) - ‘
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.7 — - -
M E R (mg/0) | < 0.05
S5 (mg/0) < 0.08 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.0 7.9 7. 7.6
YRR R s (mg/0) 1.4 0.9 1.1 0.9
(LB EERE (mg/0) 1.3 1.6 1.3 1.5
HilEYE & (mg/0) [ < 1 <1 1 [
BB SR (mg/0) 11.9 10.5 10. 1 10. 3
KIBE R (MPN/100m0) 3. 3E+2 - - -
n— MR E & A & (mg/0) - - - -
é%?{% (mg/0) 1.8 - 1.9 -
20 A (mg/0) 0. 032 - 0. 057 —
B (mg/0) 0. 044 - - —
7 x /) —)LH (mg/0) | < 0.005 — = -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
[ oV (mg/0) - - - -
= (mg/0) - - - -
TUE=THER (mg/0) 0.08 - - -
D ABREED A (mg/0) 0. 026 - - -
A R (S /m) 15 15 15 15
Bk A A4 (mg/0) 3 — 3 —
A A S P (mg/0) | < 0.03 - - -

HRHR3-36




BRI (E—8hER) HER : FR194E1HI10H #%-3(2)-22
HIEE B 10:30 16:30 22:30 Z14:30
BN i I 5 i
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 620 0. 580 0. 600 0. 630
BRI (m) 0.124 0.116 0.120 0.126
it (m/F) 0.35 0.35 0.34 0.35
i (m/Fb) 3.31 3.25 3.25 3. 41
SR (C) 7.9 9.0 0.0 -3.0
JKIR. (C) 9.5 11.8 10.5 9.0
=N 0% B Mo 0% B (4575 B
B (%) > 30 > 30 30 > 30
B3 w5 5 R fIEy
S8l B L Hamia L By L Bl
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - —
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
Lo-YZunuxkHy (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — — -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
_LP (mg/0) - - - ’
L (mg/0) - - - -
HRIEER (mg/0) .8 — - -
et E R (mg/0) | < 0.05
S0 F (mg/0) - - -
EEES (mg/0) - - -
KFEA A VEE 7.8 7.8 7.6 7.6
YRR R s (mg/0) 1.3 1.0 1.4 0.8
(LB EERE (mg/0) 0.8 0.9 1.2 1.2
HilEYE & (mg/0) [ < 1 <1 1 [
BB SR (mg/0) 11.0 10.5 10.5 10.9
PN (MPN/100m0) 4. 9E+2 - - -
n— MR E & A & (mg/0) - - - —
/i\%’f’% (mg/0) 2.0 - 2.0 -
20 A (mg/0) 0. 024 - 0. 056 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - —
= (mg/0) - - - -
TR TEEE (mg/0) 0.07 — — -
D AFREED A (mg/0) 0. 009 - — -
HRE R (mS/m) 14 15 15 15
Bk A A4 (mg/0) 3 - 3 -
e A A4 v RmiE eS| (mg/0) - - - -

HRHR3-37




BRI (E—8hER) BEH - FER19F2HTH #%-3(2)-23
HIEE B 10:30 16:30 22:30 14:30
PR 5 = = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 600 0. 600 0. 590 0. 620
BRI (m) 0.120 0.120 0.118 0.124
FiRes (m/F) 0.28 0.27 0.27 0.26
i (m/Fb) 2. 47 2. 40 2. 44 2.28
SR (C) 11.8 7.1 -2.0 -3.0
JKIE. (C) 10.5 11.4 10. 2 8.9
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 w5 5 w5 R
S8l HHa L ML HHa L ML
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) | < 0.0005 - ~ -
DA =P 4 (mg/0) | < 0.002 - - —
ERIArES (mg/0) | < 0.0002 - - -
1,2-y>/7ngxH (mg/0) | < 0.0004 - — -
LlI-YZuupxFL v (mg/0) | < 0.002 - — -
VA-1,2-VZuouxF L (mg/0) | < 0.004 - - -
LLI-FVZuouxH (mg/0) [ < 0.0005 — - -
,1,2-hUZoo=x=X (mg/0) | < 0.0006 - - —
PAEREES (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
3> /7nua7a~y (mg/0) | < 0.0002 — — —
FTU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) | < 0.0003 — — —
FARH T (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - ~ -
[ (mg/0) 1.5 - - -
M E R (mg/0) | < 0.05 -
S (mg/0) 0.11 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A RSE 8.0 8.0 7.6 7.6
YRR R s (mg/0) 0.8 1.6 2.0 2.6
(LR ERE (mg/0) 1.4 1.4 2.7 2.1
FilEYE & (mg/0) 1 1 2 2
Bl SR (mg/0) 12.0 10. 3 9.9 12.0
KIBHEREE (MPN/100m0) 7.95+2 - - -
n—~HV Y E & F & (mg/0) | < 0.5 — 0.5 —
Bt (mg/0) 1.6 - 1.9 -
20 A (mg/0) 0. 034 - 0.10 —
B (mg/0) 0. 002 - - -
7 x /) —)LHH (mg/0) | < 0.005 — = -
kil (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VRfiRlE~ o B (mg/0) | < 0.01 - — -
[ VA= (mg/0) [ < 0.02 — = -
=) (mg/0) | < 0.008 — — -
TR TEEE (mg/0) 0. 07 — — -
D ABERED A (mg/0) | < 0.005 - - —
HRGE R (mS/m) 14 14 14 14
B A A4 (mg/0) 3 - 3 -
oA A R eS| (mg/0) | < 0.03 — - -

EORH3-3




BRI (E—8hER) BWEH - FER19FE3ATH #-3(2)-24
HIEE B 10:30 16:30 22:30 Z14:30
BN i I 5 i
mi A K (BEKE) (mm) 0.0 - - —
KT (m) 0. 700 0. 730 0. 700 0. 700
BRI (m) 0. 140 0. 146 0. 140 0. 140
it (m/F) 0.51 0.49 0.49 0.50
i (m/Fb) 5.71 5. 56 5. 49 5.61
SR (C) 11.0 10. 5 6.8 -1.0
JKIE. (C) 10.0 12.0 9.5 7.5
=N 0% B Mo 0% B (4575 B
B (%) > 30 > 30 30 > 30
B3 R 5 R 5
S8l B L Hamia L By L Bl
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
Lo-YZunuxkHy (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — — -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
_LP (mg/0) - - . ’
L (mg/0) - - - -
HRIEER (mg/0) 1 — - -
et E R (mg/0) | < 0.05
S0 F (mg/0) - - -
EEES (mg/0) - - -
KFEA A VEE 7.8 7.9 7.7 7.6
YRR R s (mg/0) 1.6 1.3 1.9 1.7
(LB EERE (mg/0) 1.6 1.5 1.4 1.3
HilEYE & (mg/0) 1 2 2 1
BB SR (mg/0) 11.3 10. 4 10.9 11.4
PN (MPN/100m0) 3. 3E+2 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 1.3 - 1.3 -
20 A (mg/0) 0. 037 - 0. 058 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
= (mg/0) - - - -
TR TEEE (mg/0) 0.09 — — -
D AFREED A (mg/0) 0.017 - — -
HRE R (mS/m) 12 12 12 12
Bk A A4 (mg/0) 3 - 3 -
A A v A min Al (mg/0) - - - -

HRHR3-39




INER)I (B EHERE) HEH : FRk184E4H19H #-3(2)-25
HIEE B 10:30 16:30 22:30 14:30
PR = 5 B =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 550 0. 550 0. 520 0. 590
BRI (m) 0.110 0.110 0.104 0.118
it (m/F) 0.50 0.49 0.51 0.48
i (m/Fb) 1.58 1.54 1.60 1.58
SR (C) 17.0 17.8 15. 0 14.3
JKIE. (C) 13.5 13.3 13.5 12.0
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 w5 5 R 5
Y178 FERL FE 7L FERL [
BRI T L (mg/0) | < 0.001 - - -
2TV (mg/0) A - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.8 — — -
et E R (mg/0) | < 0.05 -
SoR (mg/0) 0.13 - m —
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.0 8.1 7. 7.7
YRR R s (mg/0) 1.7 0.8 1.1 0.9
(LB EERE (mg/0) 2.3 2.0 1.8 1.9
HilEYE & (mg/0) 4 3 3 3
BB SR (mg/0) 10. 2 9.5 9.4 9.2
PN (MPN/100m0) 1. 3E+4 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 3.2 - 3.0 -
20 A (mg/0) 0.20 - 0.10 —
B (mg/0) 0. 004 - - —
7 x /) —)LH (mg/0) | < 0.005 — -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
o o b (mg/0) — — — -
= (mg/0) - - -
ToE=THER (mg/0) 0.11 - - —
D ABERRED A (mg/0) 0.18 - - —
e (mS /m) 20 20 20 20
Bk A A4 (mg/0) 7 - 7 —
B A A o S A (mg/0) | < 0.03 - - -

EORHE3-10




INER)I (B EHERE) BEH - Fpk184E5H10H #K-3(2)-26
HIEE B 10:30 16:30 22:30 14:30
PR = = = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 260 0. 230 0. 240 0. 220
BRI (m) 0. 052 0. 046 0. 048 0. 044
FiRes (m/F) 0.69 0.68 0.65 0.66
i (m/Fb) 1.87 1.75 1.65 1.67
SR (C) 17.8 20. 6 17.2 16. 6
JKIE. (C) 14. 2 20. 2 16. 6 16.0
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 R 5 R 5
S8l B L Hamia L HEa L ML
BRI T L (mg/0) | < 0.001 - - -
BTV (mg/0) Ak H - - -
& (mg/0) [ < 0.005 — - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
[ (mg/0) 2.6 — - -
et E R (mg/0) 0.05 -
SoR (mg/0) - - - -
ESES (mg/Q) - - - -
KFEA A VEE 7.9 8.2 7.8 7.7
YRR R s (mg/0) 1.7 1.4 1.3 1.6
(LB EERE (mg/0) 3.0 3.2 2.7 2.8
HilEYE & (mg/0) 9 6 6 8
BB SR (mg/0) 10. 1 8.8 8.6 8.9
PN (MPN/100m0) 3. 3E+3 - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 2.7 - 3.2 -
20 A (mg/0) 0.16 - 0.15 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - —
7 o (mg/0) - - - -
=y v (mg/0) - - - -
TR TEEE (mg/0) 0.07 — — -
D AFREED A (mg/0) 0.13 - - -
HRE R (mS/m) 19 20 20 19
Bk A A4 (mg/0) 7 - 8 -
A A v A min Al (mg/0) - - - -

EORH3-1




INER)I (B EHERE) BEH . FRk18HE6HTH #%-3(2)-27
HIEE B 10:30 16:30 22:30 14:30
PR 5 5 B =
mi A K (BEKE) (mm) 4.5 - - —
2KIE (m) 0. 620 0. 580 0.570 0. 560
BRI (m) 0.124 0.116 0.114 0.112
it (m/F) 0.68 0.66 0.63 0.64
i (m/Fb) 2.27 2.16 2.00 2.03
SR (C) 23.0 22.0 17.8 16. 7
JKIE. (C) 21.0 16.0 18.0 16.7
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 R 5 R 5
S8l B L FE 7L HE L ML
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - - - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 2.6 — — -
et E R (mg/0) | < 0.05 -
SoR (mg/0) | < 0.08 - m —
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.2 8.2 7.7 7.7
YRR R s (mg/0) 1.8 1.0 1.3 1.2
(LB EERE (mg/0) 2.9 2.6 2.8 2.6
HilEYE & (mg/0) 6 6 8 6
BB SR (mg/0) 8.7 9.1 8.6 8.7
KIGERER (MPN/100m0) 3. 3E+3 - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 2.9 - 2.9 -
20 A (mg/0) 0.14 - 0.18 —
B (mg/0) 0.023 - - —
7 x /) —)LH (mg/0) | < 0.005 — - -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) 0.01 - - -
o o b (mg/0) — — — -
= (mg/0) - - -
ToE=THER (mg/0) 0. 05 - - —
D AFRIEY A (mg/0) 0.11 - - —
e (mS /m) 20 20 19 20
Bk A A4 (mg/0) 7 - 7 —
B A A o S A (mg/0) | < 0.03 - - -

EORH3-12




INER)I (B EHERE) BEH . FRk18HETHBH #%-3(2)-28
HIEE B 10:50 16:50 22:50 14150
KA ] N = =
mi A K (BEKE) (mm) 0.0 - - —
EV NS (m) 0. 380 R K 0.810
ERIPUK (m) 0.076 R N 0.162
Wit (/) 0.88 R R 0.51
Vi (m’/Th) 3.93 KM R 3.87
SR (C) 21.0 22.3 21.5 21.0
JKIE. (C) 20. 6 21.5 20. 0 18.8
=N PR ) PR ) PR ) 5T,
B (%) > 30 11 12 > 30
B3 + 5 T8 + 53 +5
pisc) W HY YK V7K B HY
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) - - - —
vraua AR (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) - — - -
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - — -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 -
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.4 — - —
M E R (mg/0) | < 0.05 -
S0 F (mg/0) - - - —
EEES (mg/0) - - - -
KFEA A RSE 7.8 7.6 7.7 7.7
YRR R s (mg/0) 2.6 3.8 2.2 1.7
(LB EERE (mg/0) 4.8 12 5.9 4.2
HilEYE & (mg/0) 25 1. 8E+2 45 15
BB SR (mg/0) 8. 4 8.2 8.2 8.5
KIBE R (MPN/100m0) 1. 6545 - - -
MV E & A & (mg/0) - - - -
BEE (mg/0) 3.1 - 2.4 -
20 A (mg/0) 0.14 - 0.24 —
B (mg/0) - - - -
7/ —)VH (mg/0) - - —
il (mg/0) - - - -
TR fEVESR (mg/0) — - - -
it~ v v (mg/0) - — — -
7ok (mg/0) — — - —
= (mg/0) - - - -
TroE=TEESE (mg/0) 0.24 — — —
D AFREED A (mg/0) 0.075 - — -
HRE R (mS/m) 18 11 15 17
Bk A A4 (mg/0) 7 - 5 -
e A A4 v RmiE eS| (mg/0) - - - —

HRHR3-43




INER)I (B EHERE) BEH . FRk1sHE8H2H #%-3(2)-29
HIEE B 10:30 16:30 22:30 14:30
BN i I 5 %
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 470 0. 480 0. 480 0. 460
BRI (m) 0. 094 0. 096 0. 096 0. 092
FiRes (m/F) 0.68 0.64 0. 64 0.61
i (m/Fb) 2. 24 2. 14 2.15 1.97
SR (C) 27.0 28.5 23.5 22.8
JKIE. (C) 22.7 25.0 21.2 20. 6
=N 0% B Mo 0% B (4575 B
B (%) > 30 > 30 30 > 30
B3 A e R e
S8l B L Bl B L Bl
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) | < 0.002 - - —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
LI-YZuupxF L (mg/0) | < 0.002 - — -
VA-1,2-VZuouxF L (mg/0) | < 0.004 - — -
LLI-FVZuouxH (mg/0) [ < 0.0005 — - -
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - - —
[PAEREES (mg/0) | < 0.002 - 0. 002 —
FhS/7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) | < 0.0003 — — —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
Tl (mg/0) | < 0.002 - ~ -
HRIEER (mg/0) 2.1 — - -
et E R (mg/0) | < 0.05 -
S5 (mg/0) < 0.08 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.7 8.9 7.8 7.8
YRR R s (mg/0) 1.5 1.0 0.8 0.6
(LB EERE (mg/0) 2.0 2.0 2.0 1.4
HilEYE & (mg/0) 2 3 2 3
BB SR (mg/0) 10.0 9.5 8.3 8.4
KIBE R (MPN/100m0) 1. 454 - -
n—~HV Y E & A & (mg/0) | < 0.5 — 0.5 —
é%?{% (mg/0) 2.3 - 2.4 -
20 A (mg/0) 0.16 - 0.091 —
B (mg/0) | < 0.001 - — -
7 x /) —)LH (mg/0) | < 0.005 — - -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
7 o (mg/0) - - - -
= )v (mg/0) | < 0.008 - — -
TR TEEE (mg/0) 0.09 — — -
D AFRIEY A (mg/0) 0.12 - - —
HRE R (mS/m) 20 20 21 21
Bk A A4 (mg/0) 6 - 5 -
A A A (mg/0) | < 0.03 — - -

EERHEI3-14




INER)I (B EHERE) WEH - Fpk184E9H 20 H #£-3(2)-30
HIEE B 10:30 16:30 22:30 14:30
BN i I 5 %
mi A K (BEKE) (mm) 0.0 - - —
KT (m) 0. 390 0. 450 0.270 0. 250
BRI (m) 0.078 0. 090 0. 054 0. 050
it (m/F) 0.63 0.73 0.56 0.48
i (m/Fb) 2.52 3. 37 2. 48 2.03
SR (C) 31.6 25.5 21.3 19.9
JKIE. (C) 23.3 23.8 20. 3 20. 1
=N 0% B Mo 0% B (4575 B
B (%) > 30 > 30 30 > 30
B3 R 5 R 5
S8l B L Hamia L By L Bl
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.5 — — -
et E R (mg/0) | < 0.05
S0 F (mg/0) - - - -
EEES (mg/0) - - - -
KFEA A VEE 7.9 7.9 7.8 7.8
YRR R s (mg/0) 1.7 1.3 1.0 0.9
(LB EERE (mg/0) 2.5 2.1 1.9 1.8
HilEYE & (mg/0) 6 6 4 3
BB SR (mg/0) 8. 4 8.6 8. 4 8.8
KIBE R (MPN/100m0) 2. 4E+4 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 2.7 - 2.7 -
20 A (mg/0) 0.23 - 0.13 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
=y v (mg/0) - - - -
TR TEEE (mg/0) 0.19 — — -
D AFREED A (mg/0) 0.20 - - -
HRE R (mS/m) 21 21 21 21
Bk A A4 (mg/0) 6 - 5 -
A A v A min Al (mg/0) - - - -

EORHE3-15




INER)I (B EHERE) HEH . FRkI84E10H4H #-3(2)-31
HIEE B 10:30 16:30 22:30 14:30
PR = = = =
mi A K (BEKE) (mm) 1.5 - - —
2KIE (m) 0. 500 0. 380 0. 390 0. 390
BRI (m) 0. 100 0.076 0.078 0.078
it (m/F) 0.41 0.72 0.67 0.67
i (m/Fb) 2.15 2. 65 2.51 2. 41
SR (C) 22.0 22.0 20. 0 18.5
JKIE. (C) 19. 4 20. 2 19.3 19.0
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 w5 5 R 5
S8l B L Hamia L HEa L ML
BRI T L (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.5 — — -
et E R (mg/0) | < 0.05 -
SoR (mg/0) | < 0.08 - m —
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.0 8.0 7.9 7.8
YRR R s (mg/0) 1.4 1.2 0.8 1.0
(LB EERE (mg/0) 2.1 2.0 2.0 1.7
HilEYE & (mg/0) 5 5 4 4
BB SR (mg/0) 9.5 9.0 8.8 8.9
PN (MPN/100m0) 7. 9E+3 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 2.8 - 2.7 -
20 A (mg/0) 0.18 - 0.17 —
B (mg/0) 0.021 - - —
7 x /) —)LH (mg/0) | < 0.005 — - -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
o o b (mg/0) — — — -
= (mg/0) - - -
ToE=THER (mg/0) 0.11 - - —
D AFRIEY A (mg/0) 0.16 - - —
e (mS /m) 22 21 21 21
Bk A A4 (mg/0) 6 - 5 —
B A A o S A (mg/0) | < 0.03 - - -

EORH3-16




INER)I (B EHERE) HER : FRISHEILALH #%-3(2)-32
HIEE B 10:30 16:30 22:30 14:30
PR 5 5 = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 320 0. 390 0. 300 0. 300
BRI (m) 0. 064 0.078 0. 060 0. 060
FiRes (m/F) 0.57 0.63 0.59 0.60
i (m/Fb) 1.50 2.01 1. 42 1.47
SR (C) 23.9 19. 1 14.5 13.5
JKIE. (C) 17.3 17.9 16.3 16.2
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 w5 5 R 5
S8l B L Hamia L HEa L ML
TR YA (mg/0) | < 0.001 — - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
_LP (mg/0) - - . ’
L (mg/0) - - - -
TR L% 58 (mg/0) 2.8 - - —
IRETLRERES (mg/0) | < 0.05 -
SoR (mg/0) - - - -
EEES (mg/0) - - - -
KFEA A VEE 8.3 8.1 7.8 7.8
YRR R s (mg/0) 1.9 0.8 1.2 1.0
(LB EERE (mg/0) 2.6 2.1 1.8 1.8
HilEYE & (mg/0) 4 4 3 2
BB SR (mg/0) 10. 3 9.5 9.3 9.4
KIBE R (MPN/100m0) 4. 9E+3 - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 3.3 - 2.8 -
20 A (mg/0) 0.23 - 0.11 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - —
7 o (mg/0) - - - -
=y v (mg/0) - - - -
TR TEEE (mg/0) 0.15 — — -
D AFREED A (mg/0) 0.18 - - -
HRE R (mS/m) 21 21 21 21
Bk A A4 (mg/0) 8 - 5 -
e A A4 v RmiE eS| (mg/0) - - - -

EORHE3-17




INER)I (B EHERE) WEH . Fpki84E12H6H #*£-3(2)-33
HIEE B 10:35 16:35 22:35 +14:35
BN i I 5 %
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 310 0. 330 0. 340 0. 330
BRI (m) 0. 062 0. 066 0. 068 0. 066
it (m/F) 0.67 0.69 0.71 0.68
i (m/Fb) 1.51 1. 50 1.69 1.62
SR (C) 11.0 11.0 4.7 3.0
JKIE. (C) 11.0 12.0 10. 3 9.8
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 R 5 R 5
S8l B L Hamia L By L Bl
TR YA (mg/0) | < 0.001 — - -
BTV (mg/0) Ak H - - -
& (mg/0) [ < 0.005 — - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.7 — - -
et E R (mg/0) | < 0.05 -
S5 (mg/0) 0.11 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.0 8.0 7.8 7.
YRR R s (mg/0) 2.4 1.2 0.9 1.1
(LB EERE (mg/0) 3.2 1.9 1.6 1.6
HilEYE & (mg/0) 3 2 1 [
BB SR (mg/0) 11.6 10.5 10. 7 10.9
KIBE R (MPN/100m0) 1. 3E+3 - - -
n— MR E & A & (mg/0) - - - -
é%?{% (mg/0) 3.2 - 2.8 -
20 A (mg/0) 0.27 - 0.11 —
B (mg/0) 0.072 - - —
7 x /) —)LH (mg/0) | < 0.005 — - -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
[ oV (mg/0) - - - -
= (mg/0) - - - -
ToE=THER (mg/0) 0. 06 - - —
D AFRIEY A (mg/0) 0.22 - - —
e (mS /m) 21 21 21 21
Bk A A4 (mg/0) 7 - 6 —
A A S P (mg/0) | < 0.03 - - -

EORH3-18




INER)I (B EHERE) BEH - FRk194E1H10H #K-3(2)-34
HIEE B 10:20 16:20 22:20 14:20
ENS 5 i 5 i
mi A K (BEKE) (mm) 0.0 - - —
KT (m) 0. 370 0. 350 0. 390 0. 390
BRI (m) 0.074 0.070 0.078 0.078
it (m/F) 0.93 0.93 0.91 0.89
i (m/Fb) 2.02 2.05 2.09 2.04
SR (C) 8.1 5.5 1.7 0.5
JKIE. (C) 12.8 11.6 10. 6 10. 6
=N PR ) (4575 B 4,375 B Mo
B (%) > 30 > 30 30 > 30
R +5 5 5 R
S8l V) /K Bl B L Bl
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-UZuaux X (mg/0) - - - -
LiI-YZuuxFL (mg/0) - - - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.8 — — -
et E R (mg/0) | < 0.05
S0 F (mg/0) - - - -
EEES (mg/0) - - - -
KFEA A VEE 7.9 7.9 7.8 7.8
YRR R s (mg/0) 2.1 1.5 1.0 0.8
(LB EERE (mg/0) 2.7 1.5 1.3 1.5
ilE e & (mg/0) 10 2 1 1
BB SR (mg/0) 11.1 10. 8 11.6 11.6
KIBE R (MPN/100m0) 3. 3E+3 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 3.3 - 2.9 -
20 A (mg/0) 0.19 - 0. 095 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
=y v (mg/0) - - -
TR TEEE (mg/0) 0.22 — — -
D AFREED A (mg/0) 0.14 - - -
HRE R (mS/m) 20 20 20 20
Bk A A4 (mg/0) 6 - 6 -
A A v A min Al (mg/0) - - - -

EORH3-19




INER)I (B EHERE) BEH - FER19F2HTH #-3(2)-35
HIEE B 10:40 16:40 22:40 14140
PR 5 = = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 230 0. 240 0. 240 0. 250
BRI (m) 0. 046 0. 048 0. 048 0. 050
it (m/F) 0.49 0.50 0.49 0.49
i (m/Fb) 1. 04 1. 05 1.00 1.01
SR (C) 11.2 7.6 1.6 0.0
JKIE. (C) 10.7 11.0 9.4 8.5
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 > 30 > 30
B3 R 5 R 5
S8l B L Bl B L Bl
TR YA (mg/0) | < 0.001 — - -
BTV (mg/0) Ak H - - -
& (mg/0) [ < 0.005 — - -
AN A=A (mg/0) | < 0.02 — -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) | < 0.002 - - —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - - —
[PAEREES (mg/0) | < 0.002 - < 0.002 —
FhS/7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) [ < 0.0003 — - -
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
Tl (mg/0) | < 0.002 - ~ -
HRIEER (mg/0) 2.8 — - -
et E R (mg/0) | < 0.05 -
S5 (mg/0) < 0.08 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.3 8.5 7.7 7.
YRR R s (mg/0) 1.7 1.4 2.9 1.1
(LB EERE (mg/0) 1.8 2.2 1.8 1.7
HilEYE & (mg/0) 2 2 3 2
BB SR (mg/0) 12.0 11.3 13.2 11.0
KIBE R (MPN/100m0) 7.95+2 - -
n—~HV Y E & A & (mg/0) | < 0.5 — < 0.5 —
é%?{% (mg/0) 2.8 - 3.3 -
20 A (mg/0) 0.11 - 0. 088 —
B (mg/0) | < 0.001 - — -
7 x /) —)LH (mg/0) | < 0.005 — -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) | < 0.01 - — -
7 o (mg/0) - - - -
=) (mg/0) | < 0.008 — — -
TroE=TEESE (mg/0) | < 0.04 — - -
D AFRIEY A (mg/0) 0.11 - - —
HRE R (mS/m) 21 21 22 21
Bk A A4 (mg/0) 7 - 7 -
A A A (mg/0) | < 0.03 — - -

EORH3-50




INER)I (B EHERE) BWEH - FER19FE3ATH #-3(2)-36
HIEE B 10:30 16:30 22:30 Z14:30
BN i I 5 i
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 240 0. 250 0. 240 0. 250
BRI (m) 0. 048 0. 050 0. 048 0. 050
it (m/F) 0.75 0.77 0.70 0.67
i (m/Fb) 1.00 1. 03 0.92 0. 87
SR (C) 14.6 12.0 6.6 -0.5
JKIR. (°C) 13.5 14. 4 11.2 9.2
=N 4,375 B PR ) 5TV Mo
B (%) > 30 18 23 > 30
B3 R 5 w5 fIEy
pisc) B L {%7J< {%m Hamia L
TR YA (mg/0) | < 0.001 -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) - — — —
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.8 — — -
et E R (mg/0) | < 0.05
S0 F (mg/0) - - - -
EEES (mg/0) - - - -
KFEA A VEE 7.8 7.9 7.7 7.7
YRR R s (mg/0) 1.2 2.0 2.3 1.7
(LB EERE (mg/0) 2.4 4.9 3.6 2.2
ilE e & (mg/0) 16 31 26 6
BB SR (mg/0) 10.5 9.8 10. 2 10.5
KIBE R (MPN/100m0) 2. 4E+3 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 3.0 - 3.3 -
20 A (mg/0) 0.16 - 0.18 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
[ oV (mg/0) - - - -
= (mg/0) - - -
TroE=TEESE (mg/0) | < 0.04 — - -
D AFREED A (mg/0) 0.11 - - -
HRE R (mS/m) 20 21 21 21
Bk A A4 (mg/0) 7 - 6 -
e A A4 v RmiE eS| (mg/0) - - - -

EORH3-5 1




E I GRIIKAGLERBIRR) WEH . Fpk184E4H19H #%-3(2)-37
HIEE B 11:00 17:00 23:00 #15:00
PR = 5 B =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 090 0.090 0. 080 0. 080
BRI (m) 0.018 0.018 0.016 0.016
FiRes (m/F) 0. 64 0.58 0.55 0.58
i (m/Fb) 0. 69 0. 63 0.53 0. 56
SR (C) 18. 1 17.3 15.0 14.6
JKIE. (C) 15. 6 18.0 17.0 15. 8
=N PERN-TE) PR 12 PERN-TE) PR 12
B (%) > 30 > 30 30 > 30
B3 R 5 R fIEy
S8l B L FE 7L HE L ML
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
FhS oI L (mg/0) | < 0.0005 - 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - - -
NP (mg/0) — - - -
L (mg/0) - - - -
[ (mg/0) 2.4 — - -
et E R (mg/0) 0.21 -
SoR (mg/0) 0. 483 - m —
EEES (mg/0) 0.03 - - -
KFEA A VEE 7.9 8.0 7.8 7.7
YRR R s (mg/0) 3.3 6.1 1.7 4.4
(LB EERE (mg/0) 3.7 4.1 3.6 3.5
HilEYE & (mg/0) 3 4 6 4
BB SR (mg/0) 10. 8 10. 3 8.2 8.0
KIBE R (MPN/100m0) 1. 354 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 4.6 - 3.4 -
20 A (mg/0) 0.29 - 0.16 —
B (mg/0) 0. 004 - - —
7 x /) —)LH (mg/0) | < 0.005 - -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) 0. 14 — - -
VafiflE~ o B (mg/0) 0.05 - - -
[ oV (mg/0) - - - -
=T (mg/0) - - - -
ToE=THER (mg/0) 1.4 - - —
D ABERRED A (mg/0) 0.25 - - -
e (mS /m) 39 58 29 50
e A A (mg/0) 32 - 13 -
B A A o S A (mg/0) | < 0.03 - - -

EORH3-52




E I GRIIKAGLERBIRR) AEH . SFRkI84E5H 10H #%-3(2)-38
HIEE B 11:00 17:00 23:00 #15:00
PR = = = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 250 0. 280 0. 260 0. 260
BRI (m) 0. 050 0. 056 0. 052 0. 052
it (m/F) 1.10 1.10 1.10 1.08
i (m/Fb) 3.29 3.70 3. 42 3. 36
SR (C) 20. 0 20. 2 17.0 18.0
JKIE. (C) 16. 2 17.6 16. 6 16.0
=N PERN-TE) PR 12 PERN-TE) PR 12
B (%) > 30 > 30 > 30 > 30
B3 R 5 R 5
S8l B L Hamia L HHa L ML
TR YA (mg/0) | < 0.001 — - -
BTV (mg/0) Ak H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
FhS oI L (mg/0) | < 0.0005 - < 0.0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
D% (mg/0) - - - -
FA X HNT (mg/0) - - - -
NP (mg/0) — - - -
L (mg/0) - - - -
[ (mg/0) 1.9 — - -
et E R (mg/0) 0.05
S0 F (mg/0) - - - -
EES (mg/0) - - - -
KFEA A VEE 7.9 7.9 7.9 7.8
YRR R s (mg/0) 2.2 1.4 1.5 2.3
(LB EERE (mg/0) 3.8 3.3 3.7 1.6
ilE e & (mg/0) 12 15 16 18
BB SR (mg/0) 9.9 9.5 8.9 8.8
KIBE R (MPN/100m0) 2. 2F+4 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 2.2 - 1.9 -
20 A (mg/0) 0.11 - 0.18 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
[ oV (mg/0) - - - -
= (mg/0) - - - -
TR TEEE (mg/0) 0.29 — — -
D AFREED A (mg/0) 0. 070 - — -
HRE R (mS/m) 18 19 18 26
Bk A A4 (mg/0) 8 - 7 -
e A A4 v RmiE eS| (mg/0) - - - -

EORH3-5




FE )1 GEIK G ERRIFR) BEH . FRk18HE6HTH #-3(2)-39
HIEE B 11:00 17:00 23:00 #15:00
PR 5 5 B =
mi A K (BEKE) (mm) 4.5 - - —
KT (m) 0.170 0. 240 0.170 0.170
BRI (m) 0. 034 0. 048 0.034 0. 034
it (m/F) 0.82 1. 11 0.84 0.85
i (m/Fb) 1.67 3. 20 1.71 1. 74
SR (C) 25.5 22.3 19. 0 17.0
JKIE. (C) 21.6 22.5 20. 0 18.7
A PR ) A PR ) RN
B (%) > 30 23 30 > 30
B3 R 5 R 5
S8l B L {%7J< Bl Bl
B R T A (mg/0) | < 0.001 - -
BTV (mg/0) Ak H - - -
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - —
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.7 — - -
et E R (mg/0) | < 0.05
SoR (mg/0) 0.32 - m —
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 7.9 7.8 7.7 7.7
YRR R s (mg/0) 2.7 3.0 2.7 1.7
(LB EERE (mg/0) 4.3 6.2 4.7 3.4
HilEYE & (mg/0) 9 34 13 9
BB SR (mg/0) 8.3 8. 1 7.8 8.2
PN (MPN/100m0) 9. 2E+4 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 3.7 - 3.6 -
20 A (mg/0) 0.15 - 0.22 —
B (mg/0) 0.018 - - —
7 x /) —)LH (mg/0) | < 0.005 — -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) 0.06 — - -
VafiflE~ o B (mg/0) 0.02 - - -
[ oV (mg/0) - - - -
= (mg/0) - - - -
TR TEEE (mg/0) 1.3 — — -
D AFREED A (mg/0) 0.11 - - -
HRE R (mS/m) 28 26 35 23
WA A (mg/0) 19 - 41 -
A A v A min Al (mg/0) | < 0.03 — - -

EERHR3-51




E I GRIIKAGLERBIRR) BEH . FRk18HETHBH #%-3(2)-40
HIEE B 11:00 17:00 23:00 #15:00
PR N 55 = =
mi A K (BEKE) (mm) 0.0 - - -
KT (m) 0. 270 R K 0.220
BRI (m) 0. 054 R R 0. 044
Wit (/) 1.15 R K 0. 89
Vi (m’/Th) 3.73 KM R 2.35
SR (C) 20. 8 21.8 23.0 21.3
JKIE. (C) 21.0 22.5 20.5 19.3
=N ST WVWEE PR 1) PR ) 5T,
B (%) 26 10 16 24
B3 + 53 T8 + 53 +5
S8l W HY YK V7K B HY
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
e (mg/0) - - - -
FFA X IVT (mg/0) - -
_LP (mg/0) - - - ’
L (mg/0) - - - =
[ (mg/0) 1.8 - - -
AR E R (mg/0) 0.06 -
S0 F (mg/0) - - - —
EEES (mg/0) - - - -
KFEA A RSE 7.7 7.6 7.7 7.8
YRR R s (mg/0) 3.0 3.8 3.3 1.5
(LB EERE (mg/0) 7.8 13 5. 4 3.4
ilE e & (mg/0) 37 1. 4E+2 24 8
BB SR (mg/0) 7.5 7.8 7.9 7.8
KIGERER (MPN/100m0) 3. 5E+5 - - -
n— MR E & A & (mg/0) - - - -
BEE (mg/0) 3.1 - 2.7 -
20 A (mg/0) 0.16 - 0.12 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
[ oV (mg/0) - - - -
= (mg/0) - - - -
TR TEEE (mg/0) 0.27 — — -
D AFREED A (mg/0) 0.072 - — -
HRE R (mS/m) 18 9 25 20
Bk A A4 (mg/0) 8 - 22 -
e A A v RmiE eS| (mg/0) - - - -

EORH3-55




E I GRIIKAGLERBIRR) BEH . FRk1sHE8H2H #%-3(2)-41
HIEE B 11:20 17:20 23:20 #15:20
BN i I 5 %
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 190 0. 200 0.190 0.180
BRI (m) 0. 038 0. 040 0.038 0.036
it (m/F) 0.98 0.90 0.90 0.91
i (m/Fb) 2.23 2.17 2.05 1.96
SR (C) 29. 5 27.2 24.0 22.0
JKIE. (C) 23. 4 24.3 22.0 21.8
=N 0% B Mo 0% B (4575 B
B (%) > 30 > 30 30 > 30
B3 A e R e
S8l B L Bl B L Bl
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) | < 0.002 - - —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
LI-YZuupxF L (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) [ < 0.0005 — - -
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - - —
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 -
FhS/7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) | < 0.0003 — — —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
Tl (mg/0) | < 0.002 - ~ -
HRIEER (mg/0) 1.7 - - -
et E R (mg/0) | < 0.05 -
S5 (mg/0) 0.10 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.2 8.1 7.8 7.8
YRR R s (mg/0) 1.3 2.5 2.4 0.8
(LB EERE (mg/0) 2.2 2.8 2.6 2.2
HilEYE & (mg/0) 3 4 3 3
BB SR (mg/0) 9.8 8.7 7.6 7.9
PN (MPN/100m0) 4. 9E+4 - - -
n—~HV Y E & A & (mg/0) | < 0.5 — 0.5 —
é%?{% (mg/0) 1.9 - 2.4 -
20 A (mg/0) 0. 094 - 0.073 —
B (mg/0) | < 0.001 - — -
7 x /) —)LH (mg/0) | < 0.005 — - -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) 0.06 — - -
VafiflE~ o B (mg/0) 0.02 - - -
7 o (mg/0) - - - -
=) (mg/0) | < 0.008 — — -
TR TEEE (mg/0) 0.15 — — -
D ABERRED A (mg/0) 0. 060 - — -
HRE R (mS/m) 23 22 28 28
WA A (mg/0) 10 - 22 -
A A A (mg/0) | < 0.03 — - -

ERH3-56




E I GRIIKAGLERBIRR) WEH - Fpk184E9H 20 H #%-3(2)-42
HIEE B 11:00 17:00 23:00 #15:00
BN i I3 5 %
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 160 0.110 0.130 0.120
BRI (m) 0. 032 0.022 0. 026 0. 024
it (m/F) 0.97 0.77 0.75 0.66
i (m/Fb) 1.86 1. 02 1.17 0.95
SR (C) 29. 6 24.0 21.5 20.0
JKIE. (C) 23. 4 25.0 23.0 20.5
=N 0% B Mo 0% B (4575 B
B (%) > 30 > 30 30 > 30
B3 w5 5 R 5
S8l B L Hamia L By L Bl
TR YA (mg/0) | < 0.001 — - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.2 — — -
et E R (mg/0) | < 0.05 -
S0 F (mg/0) - - - -
EEES (mg/0) - - - -
KFEA A VEE 7.9 8.0 7.8 7.8
YRR R s (mg/0) 1.3 1.2 3.2 1.2
(LB EERE (mg/0) 2.0 2.3 4.8 2.9
HilEYE & (mg/0) 4 4 4 4
BB SR (mg/0) 8.5 7.8 7.7 7.9
KIBE R (MPN/100m0) 3. 3E+4 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 2.4 - 4.9 -
20 A (mg/0) 0. 065 - 0.13 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
=y v (mg/0) - - -
TroE=TEESE (mg/0) | < 0.04 — - -
D AFREED A (mg/0) 0. 062 - — -
HRE R (mS/m) 21 23 38 26
Bk A A4 (mg/0) 7 - 51 -
e A A4 v RmiE eS| (mg/0) - - - -

EORH3-57




E I GRIIKAGLERBIRR) HEH - FRRISHE10H4H #-3(2)-43
HIEE B 11:00 17:00 23:00 #15:00
PR = = = =
mi A K (BEKE) (mm) 1.5 - - —
2KIE (m) 0. 100 0.100 0.120 0.110
BRI (m) 0. 020 0.020 0. 024 0. 022
it (m/F) 0.78 0.88 1.01 0.77
i (m/Fb) 0. 94 1. 06 1. 46 1.02
SR (C) 22.4 20. 8 20. 5 18.5
JKIE. (C) 20. 4 21.5 20. 0 19.7
=N 0% B Mo 0% B (4575 B
B (%) > 30 > 30 30 > 30
B3 w5 5 R 5
S8l B L Hamia L B L Hamia L
BRI T L (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - —
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
FhS oI L (mg/0) | < 0.0005 - 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.7 — — -
ARy Rt EE 5 (mg/0) 0.13 - -
SoR (mg/0) | < 0.08 - m —
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.0 8.0 8.0 7.
YRR R s (mg/0) 1.8 1.8 0.9 1.1
(LB EERE (mg/0) 2.9 2.8 2.5 2.1
HilEYE & (mg/0) 3 2 4 2
BB SR (mg/0) 9.8 8.6 8.5 8.4
KIGERER (MPN/100m0) 1. 3E+4 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 3.9 - 3.0 -
20 A (mg/0) 0.22 - 0.16 —
B (mg/0) 0. 037 - - -
7 x /) —)LH (mg/0) | < 0.005 — -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) 0.07 — - -
VafiflE~ o B (mg/0) 0.04 - - -
7 o (mg/0) - - - -
=y v (mg/0) - - - -
TR TEEE (mg/0) 0.83 — — -
D AFREED A (mg/0) 0.19 - - -
HRE R (mS/m) 28 27 26 26
Bk A A4 (mg/0) 10 - 8 -
e A A4 v RmiE eS| (mg/0) | < 0.03 — - -

ERH3-58




E I GRIIKAGLERBIRR) HER : FRISHEILALH #%-3(2)-44
HIEE B 11:00 17:00 23:00 #15:00
PR 5 5 = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 090 0.090 0. 090 0.090
BRI (m) 0.018 0.018 0.018 0.018
FiRes (m/F) 0.69 0.70 0. 64 0.69
i (m/Fb) 0. 74 0.76 0. 69 0.74
SR (C) 22.5 19. 7 14. 8 14.5
JKIE. (C) 17.6 16. 8 17.5 17.0
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 > 30 > 30
B3 R 5 R 5
S8l B L Hamia L HEa L ML
TR YA (mg/0) | < 0.001 — - -
BTV (mg/0) Ak H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
FhS oI L (mg/0) | < 0.0005 - < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - - -
NP (mg/0) — - - -
L (mg/0) - - - -
[ (mg/0) 3.0 — - -
et E R (mg/0) | < 0.05 -
SoR (mg/0) - - - -
ESES (mg/Q) - - - -
KFEA A VEE 8.4 8.5 7.9 7.8
YRR R s (mg/0) 1.1 0.8 0.8 1.6
(LB EERE (mg/0) 2.3 2.4 2.3 2.3
HilEYE & (mg/0) [ < 1 <1 2 2
BB SR (mg/0) 11.9 9.7 8.3 8.5
KIGERER (MPN/100m0) 4. 9E+3 - - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 3.2 - 3.3 -
20 A (mg/0) 0. 094 - 0.12 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - —
7 o (mg/0) - - - -
=y v (mg/0) - - - -
TR TEEE (mg/0) 0.11 — — -
D AFREED A (mg/0) 0. 081 - — -
HRE R (mS/m) 27 25 27 32
WA A (mg/0) 12 - 10 -
e A A4 v RmiE eS| (mg/0) - - - -

EORH3-59




E I GRIIKAGLERBIRR) HIER : FRI84FE12H6H #%-3(2)-45
HIEE B 11:25 17:25 23:25 #15:25
BN i I 5 %
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 090 0.090 0. 090 0.090
BRI (m) 0.018 0.018 0.018 0.018
it (m/F) 0. 64 0.65 0.69 0.69
i (m/Fb) 0. 69 0.70 0. 74 0.74
SR (C) 9.5 5.0 2.8 2.1
JKIE. (C) 9.6 12.0 10.0 9.5
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 R 5 R 5
S8l B L Hamia L By L Bl
TR YA (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - - - -
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
FhS oI L (mg/0) | < 0.0005 - 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.8 — — -
et E R (mg/0) | < 0.05 -
SoR (mg/0) 0.11 - m —
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.1 8.1 7.8 7.
YRR R s (mg/0) 1.9 2.1 2.4 1.1
(LB EERE (mg/0) 2.8 2.8 2.8 2.6
HilEYE & (mg/0) 3 1 2 [
BB SR (mg/0) 12.5 11.0 10. 0 10.5
KIGERER (MPN/100m0) 3. 3E+3 - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 3.6 - 4.4 -
20 A (mg/0) 0.11 - 0.12 —
B (mg/0) 0. 081 - - —
7 x /) —)LH (mg/0) | < 0.005 — - -
Kl (mg/0) | < 0.0l - m —
VRFRIEER (mg/0) 0.11 — - —
VafiflE~ o B (mg/0) 0.05 - - -
[ oV (mg/0) - - - -
= (mg/0) - - - -
ToE=THER (mg/0) 0.41 - - —
D ABRREY A (mg/0) 0. 087 - - -
e (mS /m) 30 46 39 30
B A A~ (mg/0) 18 - 40 -
A A v A min Al (mg/0) 0.03 — - -

ERH3-60




E I GRIIKAGLERBIRR) HER : FR194E1HI10H #%-3(2)-46
HIEE B 11:00 17:00 23:00 #15:00
BN i I I3 W%
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 120 0.120 0.110 0.110
BRI (m) 0. 024 0.024 0. 022 0. 022
it (m/F) 0.71 0.77 0.77 0.71
i (m/Fb) 1.02 1.11 1.05 0. 94
SR (C) 9.0 4.3 2.0 -1.5
JKIR. (C) 9.0 12.5 9.5 9.2
=N 0% B Mo 0% B (4575 B
B (%) > 30 > 30 30 > 30
B3 w5 5 R fIEy
S8l B L Hamia L By L Bl
TR YA (mg/0) | < 0.001 — - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
FhS oI L (mg/0) | < 0.0005 - 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - - -
NP (mg/0) — - - -
L (mg/0) - - -
HRIEER (mg/0) 3.0 — — -
et E R (mg/0) 0.13 -
S0 F (mg/0) - - - -
EEES (mg/0) - - - -
KFEA A VEE 7.9 8.0 7.9 7.8
YRR R s (mg/0) 1.3 1.3 1.0 1.2
(LB EERE (mg/0) 2.1 1.9 2.6 2.3
ilE e & (mg/0) | < 1 2 2 1
BB SR (mg/0) 11.4 10.5 10. 4 10. 8
KIBE R (MPN/100m0) 2. 8E+3 - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 3.4 - 3.2 -
20 A (mg/0) 0.14 - 0. 089 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
=y v (mg/0) - - -
TR TEEE (mg/0) 0.15 — — -
D AFREED A (mg/0) 0.13 - - -
HRE R (mS/m) 25 28 26 37
Bk A A4 (mg/0) 9 - 10 -
e A A4 v RmiE eS| (mg/0) - - - -

EORH3-61




E I GRIIKAGLERBIRR) BEH - FER19F2HTH #%-3(2)-47
HIEE B 11:20 17:20 23:20 #15:20
PR 5 = = =
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0.110 0.110 0.110 0.110
BRI (m) 0. 022 0.022 0. 022 0. 022
it (m/F) 0.82 0.78 0.75 0.76
i (m/Fb) 0. 56 0.53 0.51 0.52
SR (C) 10. 9 5.5 3.5 2.5
JKIE. (C) 10. 2 10. 6 9.9 3.6
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 R 5 R 5
S8l B L Bl B L Bl
TR YA (mg/0) | < 0.001 — - -
BTV (mg/0) Ak H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
DA =P 4 (mg/0) | < 0.002 - - —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
LI-YZuupxF L (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - - —
[PAEREES (mg/0) | < 0.002 - 0. 002 —
FhS/7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) | < 0.0003 — — —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
Tl (mg/0) | < 0.002 - ~ -
HRIEER (mg/0) 3.0 — - -
M E R (mg/0) 0.07 - -
S5 (mg/0) 0.23 - - -
EPES (mg/0) | < 0.02 - — -
KFEA A VEE 8.1 8.5 8.3 7.9
YRR R s (mg/0) 1.7 3.3 2.2 1.6
(LB EERE (mg/0) 3.1 3.2 3.4 3.2
HilEYE & (mg/0) 7 7 6 6
BB SR (mg/0) 12.9 10.5 11.1 10. 1
KIBE R (MPN/100m0) 1. 354 - - -
n—~HV Y E & A & (mg/0) | < 0.5 — 0.5 —
é%?{% (mg/0) 3.8 - 4.1 -
20 A (mg/0) 0. 098 - 0. 14 —
B (mg/0) 0. 004 - - -
7 x /) —)LH (mg/0) | < 0.005 — = -
il (mg/0) 0.02 - - —
VRFRIEER (mg/0) | < 0.02 — - -
VafiflE~ o B (mg/0) 0.05 - - -
7 o (mg/0) - - - -
=) (mg/0) | < 0.008 — — -
TR TEEE (mg/0) 0.47 — — -
D ABERRED A (mg/0) 0. 069 - — -
HRE R (mS/m) 32 38 32 29
WA A (mg/0) 18 - 20 -
A A A (mg/0) | < 0.03 — - -

ERH3-62




E I GRIIKAGLERBIRR) BWEH - FER19FE3ATH #%-3(2)-48
HIEE B 11:10 17:10 23:10 F15:10
BN i I 5 W%
mi A K (BEKE) (mm) 0.0 - - —
2KIE (m) 0. 100 0.100 0. 100 0.100
BRI (m) 0. 020 0.020 0. 020 0.020
it (m/F) 0.76 0.46 0.50 0.63
i (m/Fb) 0.52 0.31 0. 34 0.43
SR (C) 14.2 7.6 4.6 0.5
JKIE. (C) 12.8 14.5 9.0 10.0
=N 4,375 B B2 WK 4,375 B Mo
B (%) > 30 > 30 30 > 30
B3 R 5 R 5
S8l B L Bl By L Bl
TR YA (mg/0) | < 0.001 — - -
BTV (mg/0) Ak H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
FhS oI L (mg/0) | < 0.0005 - 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.5 — — -
et E R (mg/0) 0. 06 -
S0 F (mg/0) - - - -
EEES (mg/0) - - - -
KFEA A VEE 7.9 8.1 7.8 7.7
YRR R s (mg/0) 3.0 2.0 8.4 3.8
(LB EERE (mg/0) 3.3 3.7 5.9 4.2
HilEYE & (mg/0) 3 12 7 13
BB SR (mg/0) 11.2 10. 2 9.0 10. 0
KIBE R (MPN/100m0) 4. 9E+3 - -
n— MR E & A & (mg/0) - - - -
/i\%’f’% (mg/0) 4.0 - 4.6 -
20 A (mg/0) 0.13 - 0.23 —
B (mg/0) - - - -
7 x ) — )V (mg/0) - - - -
il (mg/0) - - - -
VRFRIEER (mg/0) - - - -
it~ v v (mg/0) - — - -
7 o (mg/0) - - - -
= (mg/0) - - - -
TR TEEE (mg/0) 1.2 — — -
D AFREED A (mg/0) 0. 085 - — -
HRE R (mS/m) 38 27 46 45
WA A (mg/0) 45 - 59 -
e A A4 v RmiE eS| (mg/0) - - - -
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